
Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend

Tel:  02232 / 777 00

Fax:  02232 / 777 00 - 40

Mail: verkauf@makita.at

Web:  www.makita.at

Makita Service Information / Model: ML122

Seite 1/2

(c) 2019 by Makita Austria. All Rights Reserved. Änderungen und Irrtümer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:12:35 AM / 



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend

Tel:  02232 / 777 00

Fax:  02232 / 777 00 - 40

Mail: verkauf@makita.at

Web:  www.makita.at

Makita Service Information / Model: ML122

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis

1
SM00000010

HOUSING SET
1 N/A

1 *** INC. 16
N/A

2
SM00000020

SWITCH COVER
1 N/A

3
SM00000030

SWITCH
1 N/A

3.2
SM00000322

SWITCH
1 N/A

4
SM00000040

DRŽIAK LAMPY  ML122/142
1 N/A

5
A-87367

+VÝBOJKA NA ML122
1 N/A

6
SM00000060

Absorber
1 N/A

7
SM00000070

Lamp Cover
1 N/A

8
SM00000080

LAMP COVER PROTECTOR
1 N/A

9
SM00000220

REFLECTOR SET
1 N/A

11
SM00000110

C Ring
1 N/A

11.2
SM00000315

KRÚŽOK ZAISŤOVACÍ ML142
1 N/A

12
SM00000120

SCREW  M3x12
4 N/A

12.2
265868-3

+ TAPPING SCREW  3x12
4 N/A

13
SM00000130

Printed Circuit Board
1 N/A

14
SM00000140

BATTERY HOLDER
1 N/A

15
SM00000150

PAN HEAD SCREW   M4x20
1 N/A

15.2
911137-7

PAN HEAD SCREW   M4x20
1 N/A

16
SM00000010

HOUSING SET
1 N/A

16 *** INC. 1
N/A

17
SM00000190

RING
2 N/A

19
SM00000180

HEX. NUT  M4
1 N/A

19.2
931102-0

MATICA M4
1 N/A

20
SM00000320

Ring ML126
1 N/A

1001
SM00000170

SET PLATE  ML122-M04
1 N/A

1002
SM00000200

STRAP
1 N/A

1002.2
SM00000311

STRAP SET
1 N/A

Powered by TCPDF (www.tcpdf.org)

Seite 2/2

(c) 2019 by Makita Austria. All Rights Reserved. Änderungen und Irrtümer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 10:12:35 AM / 

http://www.tcpdf.org

